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Intro
Today we will 7”va learn 20 97 of 1210 'on
Some of the topics we will learn about include the following:

How much 15D

How much 750 is needed and how it should be arranged on the Z SN eed ed
210

How it should be arranged
on the NoD

Some laws of ixmv and 77770 as they relate to shelters that
cover parts of a corpse.

When anmp can permit carrying on n2w and when it must be nND]O ﬂnd njnu
adjusted. as they relate to shelters
that cover parts of a corpse

When it must be adjusted

Places where one built a 1570 that may or may not be usable on
nvor

Some of the key terms and concepts we will learn about P ZCICES there one bllllt a N21D
elude that may or may not
be usable on 21» Dy

n5521o - There is a disagreement in the X3 between 27 and
581w about the definition of this term.
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. "7 010 - lower and cast. When a covering is placed directly
over a gap in aroof below it, the covering, no matter how high
up it is, is considered to be lowered and resting over the space
below, as if it has closed the gap.

NINO'X - An Istara coin is the same as a YY0.
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So let's review...

VN T VINI-

7IWI AN 72 ANIWI N25THN A0

A 7270 that is n55217», which will be explained in the X, and if
there is more shade than sunlight, is 7w>.

W AN PRI DANIN PRY O"YR 11 P IO

A noo that is thickly covered like a house, even though the stars
are not visible from inside of it, is w3

*hkkkkkkk

The gemara begins by asking n552171> 'Rp, what is a no10
nobT?

27 says nb52171 means a 7910 covered by a sparse layer of 700
with many gaps between the pieces. *w1 points out - though
none of these gaps are three o°mov or wider.

SRIBW says N9 means T 73R 19D 3P, one piece of 00
goes up and one goes down, the 700 is staggered, and although
there’s more sun than shade, ”v7 explains that it's 7w because
we imagine that if the 700 were on a flat plane, there would be
more shade than sun.

The xm) elaborates on this disagreement.

17 says the mwn is describing one case: A n)1o that is 0552170
means nN>7917, meager, but since 77w ANHNAM 72 NN, there
is more shade than sun, it is 7w>.

Whereas 5xmw says the mwn is talking about two cases: A 1910
that is n552171 means noa%an, staggered, but it's still 7w3, and
also in a case where 77w3 IMdAM 712W INY8W a 1910 that has
more shade than sun it is Yw> as well.
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7R clarifies the opinion of SRw as such, n5517 is ONLY
valid o'nov nwbw m M1 2 pRw, where there is less than three
o'nov of empty space between the layers of staggered pieces. If
there are three or more 0’nov between the staggered layers, it's
invalid.

R17 qualifies this further and says that it could be valid even if
there are three o'mov or more between the staggered layers. If
the pieces on top are a nov wide the gap between the layers can
be any size because we say 177 v1an, we consider the upper layer
as if it is lowered down to the bottom layer and there is no gap.

X317 knows this from a nywn in M50 that describes an
unfinished, two story house. Where the beams which are at
least a nov wide, are still visible with no plaster on them. The
beams for the upper story will eventually become the roof of the
entire house and the lower beams will be the roof of the lower
story.

The mwn outlines two cases of

7270 0L PRY 50 A MR

the beams of a lower and upper story.

In the first case, mon j7, the lower and upper beams are
vertically lined up with each other. Ifa corpse-type nxmv were
below any of the lower or upper beams it would only convey
ARV to anything susceptible to IxmY underneath the entire
length of that particular beam and only on that level. But, if
there is corpse-type nRmw above the top level of beams,
anything above it will become XV, even up to the sky.

In the second case, MunANA 23 NIvHwi R, when the upper
beams are directly above the gaps between the lower beams,
and the upper beams are exactly the same size as the gaps
beneath them. Ifthere is a corpse-type nXm»v underneath any of
the beams, it would convey xmv to anything susceptible to
armv under any of the remaining beams because we say V121
'»7 and we visualize it as one flat roof, and where there is a
corpse-type R above any of the beams, anything above will
become v, even up to the sky.
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N17 quotes a Xn»72 that clarifies this 7wn. When do we apply
the rules of the mwmn, only if the upper beams and the gaps
below them are a nov wide. Ifthey are less than a nov wide, the
rules there do not apply. X211 quotes this as proof and says, we
see from here that if a covering is at least a nov wide, only then
do we say "»7 v1an. We do not apply that rule when the covering
is less than the width of a nov.

A enrran o&/%w this ..
Only if the upper beams
and the gaps below them

are a MOV wide

When R170 17 repeated this teaching, "wx 27 challenged X217 from
arn™2 that deals with a 'n% and 77 needed to permit carrying
ina”an on Naw.

The x»p R0 holds that if there is a space of less than three onov
between a 7 and the wall or between two m > on opposite
walls, DInR 7P X075 7% R, it is not necessary to bring
another nmp to close the gap because we apply the law of 7125,
Ifthe space is three 1oV or wider, NINR MR X275 733, another
7P is necessary. HR5m3 12 pYnW 127 says the gap can be up to
four o'nov before another 77 is necessary.

D91 12 e 129
4 DOV

N3P RIN
3 DOV

The xn72 continues that if an entrance to a 121 was closed with
two mMp and neither was a nov wide by itself but was a nov
wide when placed together, which could then hold an nx
widthwise , PR 7P X272 773 R, If together they are still not

anov wide, NNR AP R0 IR

5R513 12 YW 127 says even if the combined width is less than a
nov, the two MMy can be spread apart in order to create a gap of
up to three o'nov which could then hold an mIx lengthwise 1R
DINR 7R X5 IR,

Neither was
@noY wide

~ay.
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The final case in the X932 is the one *wR 17 uses to challenge
~17 who said that 57 v1am only applies to a beam that is at least
one nov. Ifthese two mmp which are each less than a nov, were
placed with one higher and one lower so that there was a gap
between them vertically but not horizontally and if they either
were raised or lowered, there would be no gap, N 32707 27
says moYnd R 1R ANNANA DR 0N R7I12RI Y PRI, we
view the upper one as if it were lower and the lower one as if it
were higher mnnnnm MR ©wYH 75005 7I5Y RN ROW 7257
mwYn Tond, as long as the upper nMp was no higher than twenty
mnR from the ground and the lower one was no lower than ten
o'oY above the ground. *wR 27 explains that 777 1201 29
seems to be saying that we apply »7 v1an as long as the upper
board is within twenty m»X from the ground even though that
7p is less than a nov wide?

R3710 17 answers this challenge and says the phrase X>w 71521
DMWYH TOYRS 135V RN means the upper beam is no higher
than twenty mnR off the ground and the lower one is within
three onov of the upper one.

Or it could mean that the lower one is no lower than ten onov
off the ground and the upper one is within three o'nov of the
lower one. In either of these options, we would apply the law of
7125 and consider both beams as one single beam that is a nov
wide. Ifthere was a space of three o’nov or more between the
two beams, they cannot be combined and we do NOT apply

"»7 v1an since the upper beam is not the width of a nov, just like
N17 stated!
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' Our 3w said that if there was more shade than sunlight in the
1010, it is 7w>. It would seem that if there were equal amounts of
shade and sunlight, it would be 5100. However, that seems to First
contradict the first 73wn in the noon where we learned that if -’yé/‘/ .-;)Jé/\/
there is more sunlight than shade, it is :709, implying that if atalalatizal - n{,,xrzn

there were equal amounts, it IS qw>.
MASYM AN Anenm e

The X713 says there's no difficulty. When our mwn says it's only

7w> when there’s more shade than sun, it’s talking about the HSWDD apl=

ratio of 700 covering to the gaps between them. The solid parts

of 790 cover more area than the gaps in between. If there were

exactly equal amounts of 700 and gaps, there would definitely EQUAL EQUAL
be more sunlight on the floor of the 7170 because, as w1 )

. ) ; ' , ANT 1 INTLS
explains, the sunlight spreads out as it descends to the ground amounts amount
and would increase beyond the amount of shade causing the
7910 to be invalid. o 51.09

The other mwn that says equal amounts of sun and shade is
valid is referring to the actual sun and shade inside the 7>0.
Seeing equal amounts of shade and sun, proves that there is The actual The ratio
enough 700 on top. This idea that the sunlight spreads out as it o '
moves further from the sun is referenced in a common phrase as sun and shade Of)DD coverin Q
x99 17 relates™; nno» XRINDR 2v5n X, The size of a zuz, a nsid to the eans
small coin, above, is like the size of an R1NO’R, a larger coin, insiae 0 the gaps
below. the no>D between them

. The mwn said a thickly covered n1o is valid.
A RXn™1is quoted that provides more detail. ©2207 PRW 9”VR
77w 100 PRI even though the stars cannot be seen, it is valid.
PPWIN 551 2 PHOID MRIDW N7 9 PRI M A0 PR, if the oo
is so thick that even the rays of the sun cannot be seen, "Ripw 12
says that it is 100 while 550 ma says it is Jw>
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If one makes their 7310 on top of a wagon or a ship, it is valid
and we may enter on 270 O7. )
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If it was made in a tree or on the back of a camel, it is valid but
we may not enter on 210 0V,
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If two walls of the 71970 were from a tree and one was man-made E'IS ’1’: nnb“

or if two were man-made and one was from a tree, it is valid but
we cannot enter on 270 07,

QEN "2 w‘aw o s-;/é Y

77w 1R NARY DR T2 WHW T""&: DANY ]'7’&: DR
Va7 PO
If three walls were man-made and one was from the tree, it is

Al Al

valid and we may enter on 210 0.
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The general rule is that if you took the tree away and the noo
: y yand the [ 5

Nt S 93

could stand on its own, it is valid and we may enter on 210 ov.
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